4oth World Chess Solving Championship

Belgrade, 2nd-3rd August, 2016
Round 1: 3 x #2 — Time: 20 minutes

NAME:

COUNTRY:

1) Andreas Schonholzer

3rd Prize, Freie Presse, 1969
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4oth World Chess Solving Championship

Belgrade, 2nd-3rd August, 2016
Round 2: 3 x #3 — Time: 60 minutes

NAME:

COUNTRY:

1) Bernard Fison

The English Mechanic, 1886
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2) Virgil Nestorescu

Bulletin Ouvrier des Echecs,
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3) Robin C. O. Matthews
Bulletin Ouvrier des Echecs,
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4oth World Chess Solving Championship

Belgrade, 2nd-3rd August, 2016
Round 3: 3 x endgame studies — Time: 100 minutes

NAME:

COUNTRY:

1) Steffen Slumstrup Nielsen
Original for WCSC
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2) Martin Minski
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3) Daniel Keith
Original for WCSC
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1.8.h3 (i) (¥2)
1...g1=% 2.5yxg1 (¥2)
2....285 3.Q.g2 (ii) (¥2)
3..&d2 4.e4 (¥2)
4...Ze3 (or 4..%d3) 5.e5 (¥2)
5...%d4 (iii)) 6.\f3+ (¥2)
6....\xf3 7.e6 (Y2)
7...0h4 (iv) 8.Qe4 (v) (¥2)
8...%Hxe4 9.e7 (¥2)
9...0f510.e8=W+1-0 (%)
1.Kaz2 (i) (1)
1...Ha4 (ii) 2. Bxa4+ (iii) (1)
2...Fc5+ (or 2...Hd5+) (1)
(iv) 3.2c4+ (v)
3... 8 xc4 (vi) 4. Bd2 (vii) (1)
4...Hb4 (viii) 5.8.c3+ (1)
1. Hg4 (i) (1)
1...%e3 2. N3+ (ii) (%2)
2.. % xf3 (iii) 3. BExf3 (%)
3...f5+ 4. Gxh4 (iv) (1)
4...fxg4 5. Hf2+ (1)
5...%g1 (v) 6.%g3 1-0. (1)
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1. e4? Hg5 =

3.415? 2d2 4.e4 De3 5.e5 Hf7 6.e6
Nd6+ =

5...2f4 6.5h3+ Hxh3 7.e6 Hg5 8.e7 Hf7
9.%¢7 1-0

7...5e5 8.e7 Hcd (8..0f7 9.%c7 1-0)
9.%¢7 1-0

8.%d7? Hf5 9.4h3 Hig7,He3=

1.Bxb4+? &xb4+ 2.2d2 @xa5=

1...8a6 2.2d2 Bb8 3.4.¢c3 1-0; 1...&c5+
2.&e3 &d5 3.5¢2 1-0; 1..2d5+ 2.3 Ad3
3.4f61-0

2.Ha3? &b4+ 3.2d2 BExa3 4.8 xa3+ &xa3 =
2...8xa4 3.26 1-0

3.&d2? Axa4=

3...8xc4+ 4.8d2/&e3 &b5 5.4c3 1-0
4.823? &d5+ 5.2d2 Qa4 6.26 Dcb=; 4.Nc2?
b3+ 5.2d2 @xb2 =; 4.De3? b4 =

V111) 4..8245.261-0

1.50f3+? Wxf3+ 2.Hxf3 f6+ 3.2 g6 (3.&xh4 fxg5+
4.9xg5 =) 3...Axg0+ 4.Hxgb Dg2 =; 1.2d5? ¥c3
2.8d2+ (2.5f3+ Bg3 3.Hg5+ ®h3 4.Hgl+ Dh2
5.0f3+ &h3 =) 2...%xd2 3.0f3+ g2 4.5Hxd2 h3 =;
1.Bg2+? ¥xg2 2.5xg2 &xg2 3.&xh4 Ad7 =; 1.Ee5?
3 2802+ Hgl 3.8g2+ Bf1 4.8xe8 &d4 =;
1.%h6? We3 2.3+ Hh3 3.0Hg1+ Fh2=

2.Bxh4+? g3 3.Hgd+ Ph3 4. 813+ &xf3 5.0xf3 {5+
=; 2.8g2+? ®h3 3. 83+ Wxf3+ 4.50xf3 Sxg2 =
2..%h3 3.5g5+ Hh2 4.H2e4 %d3 5.8xe8 1-0;
2...%h1 3.%xh4 W2+ 4.Hg3 We3 5.8h3+ &g2
6.8h2+ ©f1 7.%g3 Ab5 8.2d6 1-0

4.8g6? Axgb+ 5.Fxh4 Le8 6.82+ Bgl 7.%g3 Ad7
8.8f3 (8.8d2 f4+ =) (8.Ef4 Aeb =) 8...8c8 9.Hc3
f4+ =

5..%h1 6.%g3 &gl 7.8e2 Ab5 8.Hel+ Af1 9.8d1
&h1 10.8xf1#



